a— ™
ADTS - THRUCK - SOV - PRODUSTS

INSTALLATION INSTRUCTIONS

ONKI MODULAR BRUSH GUARD — PART # 478336
98-04 HONDA Passport
98-04 1SUZU Rodeo

Parts List (Please check that you have all the parts listed below before you start installing)

4 M10X30 Hex bolts
4 M10 Nylon lock nuts
8 3/8” washers

Installation of Mounting Frame Brackets & Brush Guard

1. Under front bumper, locate the tie down bracket with 2 existing holes.

2. With the help of another person, align and position the Brush Guard onto the factory tie down bracket. Securely
tighten with the supplied M10X30 hex bolts, washers, and nuts.


http://www.carid.com/onki/
http://www.carid.com/grill-guards.html

